

Left Bank Canals Area Water Board, Badin

Phulleli Canal Division, Badin

Camp Office @ Left Bank Barrage Colony, Hyderabad Phone No.022-9210343

Website: www.sida.org.pk

No. TC/G-55/ 770

of 2016, Badin, Dated:

16.1 11 / 120

/ /2016

To.

The Manager (Assessment),

Sindh Public Procurement Regulatory Authority,

Karachi.

Subject:

BID EVALUATION REPORT FOR THE WORK OF "REPAIR /

REPLACEMENT OF GATE AND GEARS OF BHANERI HEAD

REGULATOR (BADIN SUB DIVISION).

Reference:

SPPRA ID No. 30192

It is submitted that, the Notice Inviting Tenders (NIT) was called vide this office letter No.TC/G-55/470 dated 17.10.2016 from the contractors / companies / firms on Standard Bidding Document (SBD), there in the date of issue up to 11.11.2016. The NIT was uploaded on SPPRA website at S.No. 30192

The Bid Evaluation procress have been completed in all respect and the following documents along with Bid Evaluation Reports are submitted herwith for hoisting on SPPRA website.

- 1. Bid Evaluation Report.
- 2. Bid Opening Sheet.
- 3. Comparative Statment.

DA/As above

(4/2/24) -EXECUTIVE ENGINEER

Phulleli Canal Division

Badin

- Copy forwarded to the Managing Director, Sindh Irrigation & Drainage Authority, Hyderabad for favour of information.
- Copy forwarded to the Director, Left Bank Canals Area Water Board, Badin for favour of information.
- Copy forwarded to the Director (A&F) Sindh Public Procurement Regulatory Authority (SPPRA) Karachi for information.

EXECUTIVE ENGINEER

Phulleli Canal Division Badin

3107

MINUTES OF MEETING UNDER THE CHAIRMANSHIP OF CHAIRMAN PROCUREMENT COMMITTEE, FOR BID EVALUATION OF FIRMS / CONTRACTORS ON 11.11.2016 @ 02:00 P.M IN THE OFFICE OF EXECUTIVE ENGINEER, PHULLELI CANAL DIVISION, BADIN.

A meeting of Bid Evaluation Committee(Procurement Committee) was held on 11.11.2016 in the office of the Executive Engineer, Phulleli Canal Division, Badin for securitizing / evaluation of bid submitted by firms / contractors for execution of ADP No.1068 / 2016-17 work in Phulleli Canal Division of Left Bank Canals Area Water Board, Badin.

The following committee members participated in the meeting.

1. Director Chairman

Left Bank Canals (AWB)

Badin

2. **Executive Engineer** Member

Phulleli Canal Division

Badin

3. **Assistant Executive Engineer** Member

Education Works Division

Tando Muhammad Khan

During the scrutiny of bid documents of all firms / contractors whose quoted their rates on the ADP work, according the Comparative Statment attached, the firm / contractor with lowest rates are recommended for sanction and execution of ADP No.1068 / 2016-17 work in Phulleli Canal Division of Left Bank Canals Area Water Board, Badin

EXECUTIVE ENGINEER Phullei Canal Division Badin

(ABBUL SATTAR)

MEMBER

Assistant Executive Engineer

Education Works Division Tando Muhammad Khan

CHAIRMAN

(KHAIR WA

DIRECTOR

DAHRI)

Left Bank Canals (AWB)

Badin

Bid Opening / Evaluation Committee Meeting held on 11.11.2016 @ 2:00
P.M for ADP No. 1068/2016-17 Work "Repair/Replacement of Gate and
Gears of Bhaneri Head Regulator Badin Sub Division" in Phulleli Canal
Division Badin, the following Procurement Committee Members have
attended the meeting.

S.No.	Name and Designation	Signature
1	KHAIR MUHAMMAD DAHRI Executive Engineer Phulleli Canal Division Badin CHAIRMAN	A Desire
2	NISAR AHMED TUNIO Executive Engineer Phulleli Canal Division Badin MEMBER	NZ DLA-
3	ABDUL SATTAR Assistant Executive Engineer Education Works Division Tando Muhammad Khan MEMBER	

BID EVALUATION REPORT

1 • Name of procuring Agency: Executive Engineer, Phulleli Canal Division, Badin

Tender Reference No.

NIT No.TC/G-55/470 dated 17.10.2016

Tender Description / Name

of Work / Item:

ADP No.1068/2016-17:- Repair / Replacement of Gate and Gears of Bhaneri Head

Regulator (Badin Sub Division).

Method of Procurement:

Single Stage - One Envelope Procedure.

Tender Published:

SIDA website and SPPRA website

Total Bid Document sold:

02 Nos.

Total Bid Documents

02 Nos.

received:

Technical Bid opening Date: Not Applicable

(if applicable)

No. of Bid technically qualified: (if applicable)

Not Applicable

10 Bid(s) Rejected:

Nil

Financial Bid opening Date: Date of opening 11.11.2016

12 Bid Evaluation Report:

S.No.	Name of Firm or Bidder	Cost offered by the Bidder	Ranking in terms of Cost	Comparison with Estimated Cost	Reasons for acceptance / rejection	Remarks
1	2	3	4	5	6	7
1.	M/S Atif Ali	Rs. 977079	1st	1.35% Below	Accepted due to lowest	Lowest bidder & recommended.
2	Al-Mursalien Engineering & Cons: Company	Rs. 1027106	2nd	3.69% Above	Accepted but higher cost	

MEMBER EXECUTIVE ENGINEER Phulleli Canal Division

Badin

(KHAIR MCHAMMA CHAIRMAN

> Left Bank Canals (AWB) Badin -

DIRECTOR

Left Bank Canal(A.W.B) Badin.

(ABDUL SATTAR) MEMBER

Assistant Executive Engineer **Education Works Division** Tando Muhammad Khan

ATTENDANCE SHEET

ADP No.1068 / 2016-17

NAME OF WORK:

Repair / Replacement of Gate and Gears of Bhaneri Head Regulator (Badin Sub Division).

S. No.	Name of Contractor	Contact No.	Signature
1. M/s/	Umarlin		Morali
2. M/	Alif Ali		Niej
3.	,		- /
4.			
5.			

EXECUTIVE ENGINEER

Phullei Canal Division Badin

(ABDUL SATTAR) MEMBER

Assistant Executive Engineer Education Works Division Tando Muhammad Khan

(KHAIR MUHAN CHAIRMAN DIRECTOR Left Bank Canals (AWB)

Badin

BID OPENING SHEET

NIT No.

TC/G-55/470 dated 17.10.2016

Bid Receiving Time 100 P.M Date of Opening: 11

Bid Opening Time: (2:00 P.M

Repair / Replacement of Gate and Gears of Bhaneri Head Regulator (Badin Sub Division). NAME OF WORK:

ADP No.

1068 / 2016-17

M/S Atif Ali		Estimate Cost	Bid Cost 977079	Remarks 1st Lowest
Al-Mursalien Engineering & Cons: Compan	ıpany	990488	1027106	2nd Lowest

(NISAR AHMED TUNIO) MEMBER

EXECUTIVE ENGINEER Phulleli Canal Division Badin

(KHAIKMUHAMMAD DAHRI) CHAIRMAN

Left Bank Canals (AWB) DIRECTOR Badin

Assistant Executive Engineer Education Works Division Tando Muhammad Khan (ABDUL SATTAL!) MEMBER

COMPARATIVE STATEMENT

For the work of Repair / Replacement of Gate and Gears of Bhaneri Head Regulator (Badin Sub Division).

Reference:

ADP No.1068 / 2016-17

NIT No.TC/G-55/470 dated 17.10.2016

S. S.	Item of Work	Amount	Contractor	Authority
-	Detail of Estimate Cost of Work	Rs. 990488	M/S Atif Ali Govt: Contractor	Estimate sanctioned by the Executive Engineer, Phulleli Canal Division, Badin vide No.DB/D-10/460

amounting for Rs: 990488/-

Total Estimate Cost Rs. 990488

Detail of Bid

Schedule -B

Rs. 990488

Rs. 13409

Below 1.35%

M/s Atif Ali Government contractor / firm have quoted his rate on 1.35% Below on Estimate Cost for the above subjected work

and seems reasonable. Being the lowest Bid of M/S Atif Ali Govt: Contractor is being forwarded to the Director, Left Bank Canals Area Water

Board, Badin for check and approval.

M/S Atif Ali Govt: Contractor

M/S Al-Mursalein Eng: & Const: Co.

Above 3.69%

Below

1.35%

Total Amount Rs. Rs. 977079

(ABDUL SATTAR)

Assistant Executive Engineer MEMBER

(KHAIR MUHAMMAD DAHRI) Left Bank Canals (AWB) CHATRMAN DIRECTOR Badin

> **EXECUTIVE ENGINEER** Phulleli Canal Division

Badin

MEMBER

Education Works Division Tando Muhammad Khan NIT No.

TC/G-55/470

dated: 17.10.2016

Method and Procedure of Procurement

Opened Competitive Bidding (National / International Competitive Bidding) (Single

Stage - One Envelope)

Description of Work

Repair / Replacement of Gate and Gears of

Bhaneri Head Regulator.

BIDDERS ELIGIBILITY QUALIFICATION REPORT

Eligibility Qualification Criteria:

S. No.	Eligibility / Qualification Criteria	M/S Atif Ali Govt. Contractor	M/S Al- Mursalein Eng: Const: Co
1.	Registration with PEC (if applicable)	N/A	N/A
2.	N.T.N No.	Yes	Yes
3.	Sales Tax Registration	N/A	N/A
4.	Registration with Sindh Revenue Board (SRB)	Yes	Yes
5.	Minimum three years expenditure of relevant field.	N/A	N/A
6.	Turnover of at least three years	N/A	N/A
7.	Required Bid Security is attached	Yes	Yes
8.	Bid is signed, named and stamped by the authorized person of the firm along with authorized letter.	Yes	Yes
9.	Any other factor deemed to be relevant by the procuring agency subject to provision of Rule-44		
10.	Qualified / Disqualified.	Qualified	Qualified

MEMBER
EXECUTIVE ENGINEER
Phullei Canal Division
Badin

(KHAIR MUHAMMAI DAHRI) CHAIRMAN DIRECTOR Left Bank Canals (AWB) Badin (ABDVL SATTAR)
MEMBER
Assistant Executive Engineer
Education Works Division
Tando Muhammad Khan

alBaraka Baraka Bank (Pakistan) Limited

A/C PAYEE ONLY

DATE

02/11/2016

IS MIC CALL DEPOSIT RECEIPT

ICDR No.

2514001756 - Issue No. 172:

AMOUNT

BENEFICIARY

EXECUTIVE ENGINEER PHULLELI CANAL DIVISION

BADIN.

HEAR HODE H

PKRS****17,200.00

ON ACCOUNT OF

ATIF ALI

RUPEES

PKRS*** Seventeen Thousand Two Hundred Only

for AL BARAKA BANK (PAKISTAN) LIMITED

THE RECEIPT IS NON NEGOTIABLE NON TRANSFERABLE

PAYABLE AT ANY BRANCH OF ABPL

B-118 Januar Anma Mangi F # 4-1091

Authorised Signature

Authorised Signature

ICDR No. 2514001756

2514001756

LEFT BANK CANALS AREA WATER BOARD, BADIN

PHULLELI CANAL DIVISION @ BADIN

BIDDING DOCUMENT

FOR

MAINTENANCE AND REPAIR

Name of work: "REPAIR / REPLACEMENT OF GATE AND

GEARS OF BHANERI MINOR HEAD REGULATOR. (BADIN SUB DIVISION)".

ADP No.1068

ISSUED TO

Heli Canal Division CTOBER, 2016

		(B) Description and rate of Items base	d on Market (Offered rat	es)
Item No.	Quantities	Description of Items to be executed at site	Rate	Unit	Amount in Rs.
1.	650.28	M.S Sheet 3/8" Thick	235	P.Kg	154137
2.	460.61	M.S Channel (6" x 3") Shutter Side Frames	220	P.Kg	1187 98
3.	211.68	M.S Channel (6" x 3") for Side Grooves	250	P.Kg	52920
4.	165.38	M.S Channel (6" x 3") for Top Girders	250	P.Kg	49813
5.	72.77	M.S Channel (6" x 3") for Bottom	250	P.Kg	21500
6.	26.46	M.S Channel (6" x 3") Pieces	250	P.Kg	6615
7.	18	Screw Rod	3030	P.Rft	54540
8.	2	Crown Gear	7574	Each	15148
9.	2	Pinoin Gear	6335	Marie Total Control	12670
10.	2	C.I Top Plate 10"x10"	8335		16670
11.	4	Plumbing Block APS	6250	Each	25000
12.	13.00	Driving Shaft 1.5 " dia	1135	P.Rft	17593
13.	17	Nut Bolt off size	330	Kg	5610
14.	5	Washer off size	285	Kg	1425
15.	2	Brass Nut	10520	Each	21040
16.	2	Bottom Bracket	2840	Each	5680
17.	2	Gear key	3 95	Each	790
18.	13.6	Oxygen Gas	125	P.cyl	1700
19.	71.4	D Accetylene Gas	663	P.Cum	47338
20.	60	Electric Welding Rod 8 SWG China	568	Kg	34080
21.	43.68	Paint Red Oxide	760	P.Liter	33197
22.	43.68	Paint Black	760	P.Liter	33197
23.	43.68	PainT Gray	945	P.Liter	41278
24.	18	Tarpin Oil	238	P.Liter	4284
25.	18	Champion Greese	380	Kg	6840
		To	otal Op-	of your	781663
		Workshop Crain / Transport charges 2	5%	11/11/16	195416
		To	otal	N3	977079

Total (B) in words & figures:

(Rupees Nine Hundled Seventy Seven thousand Seventy Nine only)

COMPSTATTIF AL

Executive Engine Engine Agency

Phuleli Canal Division

Sindh Procurement Regulatory Authority | www.pprasindh.gov.pk

BADIN.

13

Summary of Bill of Quantities.

Cost of Bid

E500

Amount

- 1. (A) Cost based on Composite Schedule of Rates.
- 2. (B) Cost based on Non/Offered Schedule of Rates.

977079

TOTAL COST OF BID (C) = Total (A) + Total (B)

977079/=

Contractor
M/S ATHE ALI
Govt: Contractor

Executive Engines Agency
EXECUTIVE ENGINEER
Phuleli Canal Division
BADIN.

CASHIER'S CHEQUE or Order Pay to XEN PHULELI CANAL DIVISION **Rupees** ***17,200.00 VENTEEN THOUSAND TWO HUNDRED RUPEES ONLY PAYABLE AT ANY UBL BRANCH IN PAKISTAN Valid for Six Months from the date of issue PLEASE DO NOT WRITE BELOW THIS LINE #*OO 158457#*O861996::0000000032203100#*OOO.* LEFT BANK CANALS AREA WATER BOARD, BADIN PHULLIPHICANAL DIVISION @ BADIN BIDDING DOGUMENT (a) = MAINTENANCE AND REPAIR Name of works "REPAIR / REPLACEMENT OF GATE AND GEARS OF BHANER MINOR HEAD REGULATOR. (BADIN SUB DIVISION)". ADP No.1068 ISSUED TO OCTOBER, 2016

Islamic Banking

ISSUING BRANCH:

Stationery/Ref No:

em No.	Quantities	(B) Description and rate of Description of Items to be ex		Rate	Unit	Amount in Rs
1.	650.28	M.S Sheet 3/8" Thick	/	260	P.Kg	169673
2.	460.61	M.S Channel (6" x 3") Shutter	Side Frames	260	P.Kg	119759
3.	211.68	M.S Channel (6" x 3") for Side	e Grooves	260	P.Kg	55037
4.	165.38	M.S Channel (6" x 3") for Top	Girders	260	P.Kg	42999
5.	72.77	M.S Channel (6" x 3") for Bot	tom	260	P.Kg	18920
6.	26.46	M.S Channel (6" x 3") Pieces		260	P.Kg	6880
7.	18	Screw Rod		3400	P.Rft	61200
8.	2	Crown Gear		8400	Each	16800
9.	2	Pinoin Gear		6750	Each	13500
10.	2	C.I Top Plate 10"x10"		9000	Each	18000
11.	4	Plumbing Block APS		6745	Each	26980
12.	13.00	Driving Shaft 1.5 " dia		1200	P.Rft	15600
13.	17	Nut Bolt off size		340	Kg	5780
14.	5	Washer off size		300	Kg	1500
15.	2	Brass Nut		11000	Each	22000
16.	2	Bottom Bracket		3000	Each	6000
17.	2	Gear key		420	Each	840
18.	13.6	Oxygen Gas		132	P.cyl	1795
19.	71.4	D Accetylene Gas		700	P.Cum	49980
20.	60	Electric Welding Rod 8 SWG	China	648	Kg	38880
21.	43.68	Paint Red Oxide		800	P.Liter	34944
22.	43.68	Paint Black		850	P.Liter	37128
23.	43.68	PainT Gray		1000	P.Liter	43680
24.	18	Tarpin Oil		300	P.Liter	5400
25.	18	Champion Greese		500	Kg	9000
			Total	Open	of hym	- 821685
		Workshop Crain / Transpo	ort charges 25%	//	11/11/16	205421
			Total	61		1027106

Contractor Almshi Executive Engineering & Construction

Executive Engineering & Construction

Physical Canal Division

Sindh Proceing & Construction Confidenty | www.pprasindh.gov.pk

BADIN.

Summary of Bill of Quantities.

Cost of Bid

Amount

- 1. (A) Cost based on Composite Schedule of Rates.
- 2. (B) Cost based on Non/Offered Schedule of Rates.

1027106

Rs.1027106/2

TOTAL COST OF BID (C) = Total (A) + Total (B)

Al-Mursalein Engineering & Construction Company

Executive Enginee//Frocuring Agency
EXECUTIVE ENGINEER
Phuleli Canal Division
BADIN.